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	AEU   Modul 2
	

	Opgave.
	Udregning.
	Resultat.
	Point.

	1.
	456 + 368
	=  824
	1

	2.
	921 - 149
	= 772
	1

	3.
	6 · 572
	=  3432
	1

	4.
	392 : 4
	=  98
	1

	5.
	Afrunding
	=  268,1
	1

	6.
	Afrunding
	=  0,4
	1

	7.
	0,2 · 260
	=  52 kr.
	1

	8.
	(109/545) · 100
	=  20 %
	1

	9.
	8,147 · 1000
	=  8147 m
	1

	10.
	297 / 100
	=  2,97 m
	1

	11.
	470 / 10
	=  47 l
	1

	12.
	(5a - 3a) + 8b
	=  2a + 8b
	1

	13.
	(3 · (-4a)) + (3 · 2b)
	=  -12a + 6b
	1

	14.
	x = 12 / 4
	=  x=3
	1

	15.
	x = (28 - 4) / 6
	=  x=4
	1

	16.
	[image: image1.emf]
	=  [image: image2.emf]
	1

	17.
	[image: image3.emf]
	=  [image: image4.emf]
	1

	18.
	[image: image5.emf]
	=   
[image: image6.wmf]14

10

 = 
[image: image7.wmf]7

5


	1

	19.
	(56 / 8) 
	=  7
	1

	20.
	10000 - 1000
	=  9000
	1

	21.
	43+2 ( 64 · 16
	=  45 ( 1024 
	1

	22.
	43
	=  64
	1

	23.
	1,25 · 60 
	=  75 sek.
	1

	24.
	3 · 24
	=  72 timer
	1

	25.
	180 – 55 - 42
	=  83
	1

	26.
	Afmærket på svarark
	=  højde i trekant
	1

	27.
	Afmærket på svarark
	=  diagonaler
	1

	28.
	10 · 8
	=  80 cm2
	1

	29.
	10 · 8 · 5
	=  400 cm3
	1

	30.
	Figurens navn
	=  Kugle
	1

	31.
	[image: image8.emf]
	=  2 cm
	1

	32.
	90 · 4
	=  360
	1

	33.
	Aflæst på figur
	=  (2,5)
	1

	34.
	Markeret på svarark 
	=  B(1,3)
	1

	35.
	Aflæst på figur
	=  y=2x+1
	1

	36.
	[image: image9.emf]
	=  [image: image10.emf]
	1

	37.
	[image: image11.emf]
	=  
[image: image12.wmf]6

3

 = 0,5
	1

	38.
	10,167–8,25=1,917( 0,917·60=55
	=  1 time, 55 min.
	1

	39.
	7 - 4
	=  3
	1

	40.
	20 – (4+6+7)
	=  3
	1
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